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Paper - | ( Objective Type ) SSC-A-2022 (Group II ij }” (J/J’Lﬁf" )
Time Allowed 215 minutes S5C ( Part-1) = 15
Maximum Marks : 12 Session ( 2020 - 2022 ) to (2021 - 2023 ) 12
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number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

g'I'he Least Count of Digital Vernier Callipers is : Lt:rf N N4 /«r"( /"'.ug)’j 3
E 0-01lecm (D) 0O-1cm (C) O+Imm (B) 0:-0lmm (A)

EWhlfh one of the following unit is not a Derived Unit : - A LY Pl sy Lr._,,lf o L ,_;!
E W;ntt ¢f: .(D) .Newtun ”\___,.:}u (C) Kilogram l/:'{ (B) Pascal UK"% (A)

E e sz L J'J-: - ms J 72 Kmh
!meerqmn of 72 Kmh to ms © is equal to --eeeee-

S oms’l ) Bml Q) 2wl @) w0me @)
E & b QWK wIb Sl J:ﬁf/Jgf;,u*Jjﬂy
ENewh}nf; First Law of Motion is valid only in the absence of

: Momentum ffr‘ (D) Torque b (C) Net Force St (B) Force ¢ (A) |
iirrhra number of Pr:rpendlcular Components of a Force is : -:*_.U.ﬂ' :Lu’d u“"“?/u;/ L /-".r,f{
| D 4 (O 2 (B) 1 (A)
;The value of 'g' onthe surface of Sun is PR J ‘g« f L}, ONlg
i 8«87 ms (D) 274 .2 ms : (C) 3:7 ms (B) 1-62 ms_z (A)

EThE Orbital Speed of a Low Orbit Satellite is r.:-dﬂ e d’ L/u%; J G Lo 4‘,5-

8000 ms ' (D) 800 ms! () 8ms '} B) 0 (A)

.........................................................................................................................................................................................................

The Kinetic Energy of a Body of Mass 2 Kg is 257]. Its ‘ipEEd is
50 ms | (D) 25 ms™} (C) 12+5 ms (B) 5 ms” ! (A)

......................................................................................................................................................................................................................................................................................................................

i sxlu‘sK"l (D) 8x 107K I(C)ﬁxlﬂ KI(B)2x105K1(A)
EThermaI Conductivity of Wood in Wm' 11 & U Wm' L1 CE,:/JU/ d Lj/ﬁ
:

g 0.08 (D) 0.2 (C) 0.6 (B) 0.8 (A

i&—.’i—-[p"idlfff‘_é{dlf— "'r’:c.: D.C,B. AuLJF.,V.er..J!r— ,

!

!

!

E Nete : Four possible choices A B, C D to each guestion are given. Which choice is correct | fill that circle infront of that question
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